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' Revision:Unit1 =~ Algebra“ ' Math-Prep3
Equations

Choose the correct answer from those given

~
1-1f(2, 1) s a solution of the equation: 2 x +ay =6, then a
— TR 4 o= 4o

------------------- b\-&;ﬂ-_:":gl

—

(a) 2 (b) 6 1l (d) 3

= = RN

2- The point of intersection of the two straight lines which
equationsarex+y=3andx- = 1iS .............

el MR oy
(a(1,2)  (b)(4,-1)  (9(2,1)  (d)(5,-2)

':", i ’ll‘ LT lll"_‘
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' Revision: Unit1 *" Aloebypra " Math-Prep3 |

Equations

Choose the correct answer from those given

3- If the sum of two positive numbers is 9 and their product
is 8, then the two numbers are ...t .29 < oLy="2

e v
(a) 2,7 (b) 3,6 (€)4,5 (d)1,8
a x 8 = 4
4- The S.S. of two of the two equations : u 0,x-2=0
N RX R 18 s % = 2

@{(0%2)) (BX(2,2)} (@{(-H2)} (@{(2,-2)}

o
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" Revision:Unit1 = Algebra“ " Math-Prep3
Equations

Choose the correct answer from those given

5- The number of solutions of the two equations X-2y=

e =S W =
and“3 x— Gy- 6is .. ?.,,tu?ﬁ.: L—C’;“\) ooyl
(a) 1 (b) 2 (c)3 (d) an infinite

6-1f : X =3 is a root of the equation: x* + m x =3, thenm =

-
------------------- 3_\.—-?}%:.3
%*:gm:a-_?:
=

———

(a) -1 (b) -2 (c) 2 (d)1
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" Revision:Unit1 =~ Algebra“ ' Math-Prep3
Equations

Choose the correct answer from those given

T -
7- The solutions set of the two equations : X'+3y=4,3y+ x=1
iS ................... P ——"

(a){(3,1)} (b){(1,3)} (c) D (d){(1,0)}

—-——_—_—_

|
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Equations

[a] Find the solution set in of the equation : x?-5x+3=0

A

approximating the roots to the nearest tenth.

_—— —_— —

% sx 4 = Y= =-S5y —9RWK3

Y SE D e :}Cr_—"“_w) 2 Y|

_\:IL\I wiByacC j: 5+ Jza- 18 _-: st /i3

S, ) N = B

£l c:-?ij

[b] The perimeter of a rectangle is 14 cm. and its area 12 cm 2.
=T '—l =Els

Find each of its two dlmensmns

LT The \evaaWNo e = and ik e ¥
e y3%Z = 4 C oo (f =3 )1y — £f )as




" Revision:Unit1 *"" Ajoebya~  Math-Prep3
Equations

[c] Find algebraically the S.S. of the two equations :

x+z 4,2x- y-ZmelR e

2—% / “-‘!',’
X 4+ —_ L)
W s TR P
'7"1_f~'L,?_
-_-';D")L —'_—-___é‘__- -f_.-‘iw“:f[.’?_;-'l\ar
—— =2 = z—

[d] The sum of two integers is 9 and the difference between

their squares is 27 find the two numbers. =

FH__I V4 ) - A T ) Wl :/ =?—:z P "’ e9-5
== gt P =2

X =D alx=3-y A= == ".x:J
o AR = B VNPF —_—

' r_?.L e e ] —— 5L
— _W_’\_g '—; —
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[e] Represent graphically the function f:

f(x)= 4 =GZbn the interval [- 3, 3] and from the drawing deduce the

(1) Roots of the equation: f(x)=0
=
(2) Equatmn of symmetricaxls (@) Pon
I ——r e T
LX) -—5 a 3 © -5 \ \%ﬁ
B _:.- T
(-2} ——=5 il
- - 3 = | ]
= + o |
U NN = > - al
L g E

Sehoole
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[f] A rectangle with a length more than its width by 4 cm. If the

perimeter of the rectangle is 28 cm. , find area of the rectangle.

I D
PO o= 2\
r_l":l_ /= £ \

Nl ' =
it T
S b = <8N
\ J -
X | =%
7 = \ £
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[g] Find algebraically the solution set of the two equations :

y-x=2,x"+xy-4=0

Sobools
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~ Revision:Unit1 = Algebl.a"‘F Math-Prep3
I Equations |
Graph the quadratic function f where (x) = x-4x+3=0 |1

,X€ [ —1,5],then from the graph deduce :

(1) The coordinates of the vertex of the curve.
(2) The minimum value of the function.
(3) The ss.in R of the equation :
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" Revision © Algebraic Fractions " Math- Wews 3

Unit2,3 and Probability |
= e K R o =
e ol N ‘L;-;L-k-%ﬂ’?( 3K+ %) o 2<
29 A S xisv-ﬂ . 74- r‘(';(‘): > - |
5L5% ¥\) (A 6]{3{ - [ ®.,'?_

‘: \ X 2 ?f"(_ Ao o

1 Xflz AL B > 5"
g il "

(kS sk & ) s W 4
1 =

% o HO) X _.L\(."ﬂ'tl)

:!LTGF ZeNos — );_'1,_ -2?
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" Revision © Algebraic Fractions ™ Math-Prep3
Unitz,3 and Probability

Choose the correct answer from those given |

Cag om )
(1) IfA C S ofarandom experlment P (A )=2P(A),thenP (A) = ... ‘
-

(@) b) - @+ _ (@) 1

=51 1 =

(2) The set of zeroes of f(X))=zero is ...

(a) @ (b) Zero () R @ R — {0}

|
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" Revision © Algebraic Fractions ™ Math-Prep3
Unitz,3 and Probability

Choose the correct answer from those given

(3)If F(X) =X +X + a and the set of zeroes of the functionf is {:1 . Y4

_—

thena=...l...’a2.i—‘~+a.:c= —l B & B =il Qesheils
(a) 2 (b) 1 (e) —1 (d) —2
A
x A
4) If n (X) =—— ,then the domain ofn
) _(c_:), CX¥5

(a) R (b) R — {0} R—{5} (dR=-{0,-5}

I
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" Revision © Algebraic Fractions ™ Math-Prep3
Unitz,3 and Probability

Choose the correct answer from those given |

(5)IfA CB,then(AUB)=..... ‘3 ‘

(a) Zero (b) P (A) (c) P (B) (d) P (ANB)

SEe - . L,
(6)Ifa=v3,b \{_,then?a_‘r’oib:l- WELXE) =63
1
(a) 3 (b) — (V3 (d) ==
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Unitz,3 and Probability

Choose the correct answer from those given |

x+5

(7) The domain of f: f()=—5— is= % omtf =(x+2 ) {X-Z)
@R  ®R-{-2,2}  (@R-{-2} (R-{2}
. 3 d
&7 P

(8) If A and B are mutually exclusive events, then P (AB) =

(a) @ (b) Zero (c)0.56 (d) 1

,\f
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Unit3,3 and Probability |

(1) 1f ) x*+x—12
A = x°+5 x+4

of n *L,then find

e

, find n! (X), showing the domain

——

1= _‘1"\Jr-.'._/‘_’fl._t\
L g ] 1=

Wiy -
(2 =+ \){ ¢ 4rt|
= — T 7
D ! 13
M you, BB . emPletg BTR =3
x | S S
L
ey

| o
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" Revision " Algebraic Fractions " Math-Prep3
Unit2,3 and Probability

(2) Find n (X) in the simplest form , showing the domain

where :
.t--"""'"z
X) x+dx | ¥ i
n = =
x> =27 ~— x*+3x+9
Nf—:‘.l._‘?\ "'V.A-L
Er = J iz
“[\..Fg' }.-_- — - —
(x = #53¥43) X w3 X9
= S = 21
5 ﬂrﬂh.n.(’(",}{-!-ﬂ
Sl HLERLE) Ve il o
e
C."?‘-—'?#)(:F-::_c__z"i-’c"i‘] ’)(,_,AG(L
w Y = o T

| -4 Scheocls
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Unit2,3 and Probability

3) [a] 1f n, (0= —22—, n, (X)= — 4% that
d n = = rovetnat: N, =n
1 2x+8 " 2 T g xt16 P — gk
"I""-l"‘l\a:‘: /2/7( : r;d.-'w.!/i!‘i
Al \ > Sy
2z sl \ A o) -
CXTH )
P\_-e\ - 4 i =
_%\r= C i EL‘: | E_E‘f_!'*g —
A v s s, = B =
> A . = SESE

o N K = I\ \
\ -
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" Revision © Algebraic Fractions " Math-Prep3
Unit2,3 and Probability

(3) [b] If A, B are two mutually exclusive events and P (A) = % ,

\l

P (AUB) = —, find : P (B)

A 2
eV BR) =PA) LPLB)
P(B) = CAuB) PCA)
\ & i L 2 “
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" Revision ' Algebraic Fractions " Math-Prep3
Unit2,3 and Probability '

(4) Find n (X) in the simplest form , showing the domain

: " X+ 2x 2x—6
where : nX) =
() x’ -4 x5 x+6
|~ #J\ ) ~ /’{
n[""x "I— o {; :'f

x -Z N g . ~ -2
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" Revision ' Algebraic Fractions " Math-Prep3’
Unitz,3  and Probability -

(5) If A and B are two events from the sample space S, P (A)

=0.8,P(B)=0.7,P (AN B)=0.6, find:

[1]1 P (A) [2] P (A U B) [3] P (A—B)
PO B OCWay Ze ~. 3 _ dl 2

i L 2 1N06)

= = s R, (A0 ]
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